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N.B: 1. Question no 1 is compulsory
2. Attempt any three questions from Q.2 to 0.
3. Use suitable data wherever required
4. Figures to the right indicate full marks. &
Q.1 Attempt any five of the followmg Q‘

B What is Rayleigh’s criterion of resolution? Define resoh}m\
C Calculate the V number of an optical fibre having nume !‘5
operating wavelength is 1.55 um PRy
D What is pumping in LASER? Give the types of pujnpln =
E Show that the dwergence of the curl ofa vec\tpels zer\c S

radius 5 cm. © .,\ c«,'?_

a2 S \v
G What will be the fringe pattern if wedg‘e sf‘i i

,_ .\, \

o '}-'-(_.»‘, b oF () iz 2 :..
Q.2 A Obtain the condition for maxima ancﬁmnjm\a\@f‘; e jgh,_-,;r\eﬂ Gte [‘br@-a)j n gxagsg, r
thickness. Why is the visibility Qﬁhe fﬁng h‘hlgﬁgf ‘,p-tb eflecteq,”ssgstgmxthaﬁ, in'the transmitted
system? s ; JNESy FXE D

5 e o \:ﬁ \,
B What is Numerical apertuce?bcplaﬁ)che usg‘o ptic ﬁ

’:9

ﬂ: film of uniform

3
).

ic: fﬁi\& ptgmpegawi‘eéeﬂso?' 07
The core diameter of a multlmode stepﬁnﬂ :?ﬁbre\ 5;5 . ﬂ@%umertcalagénure is 0.25. Calculate the
number of guided modesa“tan Opeta“tlgg wayeleng th-of 0. 35,‘_,;4111\&3;7} -,

\\J \\ Py > __\."} QL DTS .

Q.3 A Explain the expermi’ehtql q;étﬁod’tq eEe?rqingthé w“wﬂwengﬂ@ispe'gt\ﬁ line using diffraction grating. 08

A diffraction gratmg ha&SOOOﬁnes 1ém na”ﬂ’ke tqta[”rulegkwldth\ls%cnf Calculate dispersion for a wavelength

of 5000A° in- mg%g?.ond order 5 9

B Explain conﬁtrnctiug"‘a\na wqumg\pf‘Nd@‘Y@GJaserf 07
NS gfﬁ)\fl“m AN @ e AR oy
Q.4A Explam%pﬁeruga\l cb§0rdﬁ;‘a‘f‘g;?sisfemrS’Lgt&“th\e‘ﬁa\ns?‘onnation relation between Cartesian and Spherical 05
coo:dmatesi\ YOS .:'Q'i”\\“’é* KPP D I Y o
B Explalr\cqnstrugtmn m¢mgrk|ngnfcaghqde?av1uhq i 05
C A Wedge‘sh‘aped“am”ﬂlm havfﬁgr‘ang]erqftm sééqﬂdﬁ"lg‘flfummated by monochromatic light. Fringes are 05
-aQsewed vert@ajjy thr@ugh a»mlcrgscogé The st‘tance between 10 consecutive dark fringes is 1.2cm. Find the
ma;y: l\ight_g‘s& 25 ,,@
el Q‘
plam;c nsimgtlsn andMorklng of Atomic force microscope. 05
eQaanoas lmn.'tggral and differential form. 05
05
05
05
05
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(i) Sectional front view along section A-A.
(iii) Top view

(ii) Side view from left

For the object shown in figure draw the following views
(iv) Insert the major dimensions

Q.2

and axis length 60 mm has one of its side  (15)
lid is inclined to the HP at an angle 30° and
an angle 45 with the VP. Draw its projections
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Q.4 (b) Figure shows two views of an object. Draw its isometric vfl\Qw,\
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